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Class worksheet 1
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A person walks in the following pattern: 3.1 km north, then 2.4 km west, and
finally 5.2 km south. (a) Construct the vector diagram that represents this motion.
(b) How far and in what direction would a bird fly in a straight line to arrive at the
same final point?

Calculate the components of a vector a in the xy plane if its direction is 250
counterclockwise from the positive x-axis and its magnitude is 7.3 units.

The x-component of a certain vector is -25 units and the y-component is +40
units. (a) Calculate the magnitude of the vector. (b) Calculate the angle between
the direction of the vector and the positive x-axis.

A ship set out to sail to a point 120 km due north. An unexpected storm blows the
ship to a point 100 km due east of its starting point. How far, and in what
direction, must it now sail to reach its original destination?




[image: image2.png]Find the vector components of the sum r of the vector displacements ¢ and d
whose components in meters along three perpendicular directions are ¢y = 7.4, ¢y
=-38,¢,=-6.1;d, =44, dy=-20,d,=33.

Two vectors a and b have equal magnitudes of 10 units. They are oriented as
shown below and their vector sum is r. Find (a) the x and y components of r, (b)
the magnitude of r, and (c) the angle r makes with the positive x-axis.
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2)  aand b point in the same direction b)  b=0
¢ aand b are perpendicular
a)  diagram b)  32km,41°Sof W
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